
913884 PM-34    ASSEMBLY INSTRUCTIONS    A02 07/2021

PM-34 
ASSEMBLY INSTRUCTIONS



2

204113
5” 

X 6

2 HR

204114
5” 

X 2

227479

X 4

219070
M8

X 4

219897
M10

X 4
219578

M8

X 4

219903
M10

X 4

221154
M8

X 10

219602
No6 x 1”

X 4

219839
No8 x 1 & 1/2”

X 6

219547
M5 x 16

X 20 X 10

219555
M8 x 25

291123
M8 x 75

X 4

909100
M10 x 40

X 4



3

1

2

3

4

5

7

9

13

Item Description Qty

1 Base 1

2 Base Extension 2

3 Buffer Moulding 4

4 Castors 6

5 Castors - Brake 2

6 Clip On Moulding Tray 2

7 Tiebar 2

8 Bag Frame/Lid Assembly 2

9 Clip On Panel 4

10 Door Assembly Kit ‘A’ 2

11 Door Assembly Kit ‘B’ 2

12 Rear Frame 2

13 Centre Upright Frame 2

14 Middle Upright Frame 1

15 Waste Bin 2

6

8

12

13

12

14

11
10

2

8

11

10

15
15



4

X 4

909100
M10 x 40

X 4

219903
M10

X 4

219897
M10



5

X 4

219578
M8

X 4

291123
M8 x 75

219070
M8

X 4



6



7

219555
M8 x 25

X 10X 10

221154
M8 



8

227479
 

X 4

204114
5” 

X 2

204113
5” 

X 6



9

219839
No8 x 1 & 1/2”

X 6



10



11

X 4

219602
No6 x 1”



12



13



14

1 2



15



16

X 2

219547
M5 x 16

1



17

X 2

219547
M5 x 16

2



18

A

A B

A
B

X 8

219547
M5 x 16



19



20


